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QUESTION 1

Which three requirements must be met before a tablespace can be transported across different platforms?
A. Both the source and target databases must use the same character set.

B. The platforms of both the source and target databases must have the same endian format.

C. The compatible parameter value must be the same in the source and target databases.

D. The minimum compatibility level for both the source and target databases must be 10.0.0.

E. The tablespace to be transported must be in read-only mode.

Correct Answer: ADE

Reference: http://docs.oracle.com/cd/B28359_01/server.111/b28310/tspaces013.htm

QUESTION 2

For your database, an incremental level 1 backup is taken every week day. On Tuesday, before the backup is
performed, you add a new tablespace.

You execute the command: RMAN> BACKUP INCREMENTAL LEVEL 1 FOR RECOVER OF COPY WITH TAG
WEEKLY DATABASE;

Which statement is true about the execution of the command?

A. It returns an error because there is no level 0 backup available for new data files.

B. It performs an image copy backup of new data files, and a level 1 incremental backup of all other data files.
C. It performs a level-0 backup of all data files including those that belong to the new tablespace.

D. It performs an image copy backup of all data files including those that belong to the new tablespace.

E. It performs a backup as a backup set of all data files including those that belong to the new tablespace.
Correct Answer: B

References: https://docs.oracle.com/cd/B19306_01/backup.102/b14192/bkup004.htm

QUESTION 3

Your database is running in ARCHIVELOG mode. You observe that the fast recovery area does not have enough free
space and there is no scope to add more space to it.

Identify two events that can occur at the time of a log switch. (Choose two.)

A. All active transactions are rolled back and the database instance shuts down.
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B. The database instance status is automatically changed to RESTRICTED mode and file creation in the fast recovery
area is prevented.

C. The Oracle Database server deletes a file that is on the obsolete file list to create free space in the fast recovery
area.

D. An entry is written in the alert log and the database instance is automatically placed in MOUNT state.
E. The log switch hangs until free space is available in the fast recovery area.

Correct Answer: CE

QUESTION 4

You notice that the performance of your production 24x7 Oracle 12c database has significantly degraded. Sometimes,
you are not able to connect to the database instance because it hangs.

How can you detect the cause of the degraded performance?

A. by performing emergency monitoring using Real-Time Automatic Database Diagnostic Monitor (ADDM) to fetch data
directly from SGA for analysis

B. by running ADDM to fetch information from the latest Automatic Workload Repository (AWR) snapshots
C. by using Active Session History (ASH) data and performing hang analysis
D. by running ADDM in diagnostic mode

Correct Answer: B

QUESTION 5

Identify three reasons for using a recovery catalog with Recovery Manager (RMAN).

A. to store backup information of multiple databases in one place

B. to restrict the amount of space that is used by backups

C. to maintain a backup for an indefinite period of time by using the KEEP FOREVER clause

D. to store RMAN scripts that are available to any RMAN client that can connect to target databases registered in the
recovery catalog

E. to automatically delete obsolete backups after a specified period of time

Correct Answer: ACD
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